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The words “more” and “less” can help you decide whether you 
should add or subtract. Read each word problem. 

Then, check the correct equation. 

Sums and Differences within 100: 
Assessment 3

    There were 2 gardens in Billy’s backyard. The first garden 
had 47 flowers. The second garden had 5 flowers less than 

the first garden. How many flowers were 
in the second garden?

 Veronica had two gardens. In one garden, 26 potatoes 
grew. In the second garden, there were 12 more potatoes 

than in the first. How many potatoes grew 
in the second garden? 

47+5=52 47-5=43 47+5=51 47-5=42

26-12=14 26+12=38 26-12=12 26+12=39

47 ?
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